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1. IEf(0) =1, find Jim £2M = f(3R),

A0 h
(A)o (B)2 (C)-2 (D)5 (E)-5

2. Which of the following series diverges?

=1 (Inn)? = Inn = tan~ln = .1 X, 2ngn
(A) z;—n—- (B) Zﬁ/_z © > a7 D) Zsm;;,* (E) > —
n= n=l n=l n=1 n=1
. —
3. Wha.tlis the vall:e of theldzeﬁnite ix;tegral /; it dz?
(A) s (B) 75 (© 7 (D) = (E) none of these

z2

4. Find the linearization of f(z) = 3 +[ sec(t —1)dt at z = 1.
(A) L(z) = —3z+2 (B)L(z)=2u—1 (C)L(z)=-2z+1 (D)L(z)=3z—2

(E) L(z) = =3z +1
z? .
—/idt
5. Find the limit: lim 0, 52 Vi~ Vid

0+ j;’?tan\/f——\/fdt‘

W1 B0 ©3 () -2 (& -1

1,1
6. Evaluate j / 3ye® dzdy.
0 Jy

2

373 3 3 , 3 3
(A) —Té'i'i'ée (B)Z'f'ze (C) —3e+ 3e {D) _Z+Z (E) -3+ 3e

7. Find the surface area of the cone z = /22 + 42, 0< 2 < 2.
(A) -‘g"?’- (B) v2r (C)2v2r (D)3v2r (E) 42
8. Find the length of the cardioid r = 1 — cosé.

(A)2r (B)4r (C)8 (D)4 (E)&n

9. Determine the maximum error when the fifth-degree Taylor polynomial is used to ap-
proximate e in the interval [0, In 2).
1 1 1 1
— —_— —_— — h
(A) 5 (B) 7ol (C) oW (D) 7 (E) none of these

10. Find the absolute maximum value of the function f(, y) = 22— 2zy-2y on the rectangle ;5’
D={(z,y)|0<2<3,0<y<2}

(A)16 (B)9 (C)4 (D)1 (E)o0
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1. Find the area of the region in the first quadrant that is bounded above by y = V/Z and
below by the z-axis and the line y=z-2
Answer :

2. If f(z,¥) = ze¥, find the rate of change of f at the point P(0,2) in the direction from
PtoQ(},2).
Answer :

3. Find the line that is tangent to the curve zsin 2y = y cos 2z at (m/4,7/2).

Answer :
el n+1 1
4. Evaluat / —dz.
valuate g g 1532
Answer :

5. - A company expects its income during the next 5 years to be given by
c(t) = 100,000, 0<t< 5.

Assuming an annual inflation rate of 10%, what is the present value of this income? .-
Answer :
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1. A cabinetmaker uses plantation-farmed mahogany to produce 5 furnishing each day.
Each delivery of one container of wood is $ 5000, whereas the storage of that materia] is §
10 per day per unit stored, where a unit is the amount of material needed by her to produce

material be delivered to minimize her average daily cost in the production cycle between
deliveries? .

2. A manufacturer’s production is modeled by the Cobb-Douglas function Sz, y) = 10023/4y1/4
where  represents the units of labor and y represents the units of capital. Each labor ynit
costs $ 200 and each capital unit costs § 300. The total expenses for labor and capital cannot
ceed § 60,000. Find the maximum production level,
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